Dessus incliné

Slope Top

R Line Assembly Guide % Guide d'assemblage Ligne R

rousseau

« All required hardware is included.
* Please check the contents with your packing slip.
» Read instructions carefully.

« Save this document for future reference.

» Toute la quincaillerie requise est incluse.

* Veuillez vérifier le contenu avec votre
feuille de livraison.

* Lisez attentivement les instructions.

* Conservez ces instructions pour
référence future.

Hardware Quincaillerie Tools Required Outils requis

1/4-20 bolts 1/4-20 nuts Washer Tapping screw
Boulons 1/4-20  Ecrous 1/4-20 Rondelle Vis taraudeuse

3A1818L2 35180122 32011902 3D1616LA

@ 7/16"

Assembly Assemblage

I

Regular front assembly
Assemblage avant régulier

2x
x( =)

2x

Rear assembly
Assemblage arriére

2x

o)

Special front assembly
Cabinet + doors with frame

Assemblage avant spécial
Cabinet + portes avec cadre

rousseaumetal.com Page 1/1 R23-FE09B
1-800-463-4271 7D002023



	Page 1

